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QUESTION 1

How are licenses transferred in IBM SmartCloud Control Desk? 

A. between sites 

B. between locations 

C. between organizations 

D. between General Ledger accounts 

Correct Answer: C 

Reference: http://pic.dhe.ibm.com/infocenter/tivihelp/v50r1/index.jsp 

 

QUESTION 2

What are two options when setting up software contracts for an organization? (Choose two) 

A. Associate Terms 

B. Associate Pricing 

C. Associate Properties 

D. Associate Tax Status 

E. Associate Vendor Status 

Correct Answer: AE 

 

QUESTION 3

Which IBM SmartCloud Control Desk external system must be enabled so the Software Catalog can be Imported? 

A. EXTSYS 

B. EXTSYS1 

C. SCCDEXTSYS 

D. TAMITEXTSYS 

Correct Answer: D 

Reference: http://pic.dhe.ibm.com/infocenter/tivihelp/v50r1/index.jsp 

 

QUESTION 4
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Which application can be used to view deployed assets in the enterprise? 

A. Deployed Assets > Assets 

B. Deployed Assets > Computers 

C. Deployed Assets > Network Items 

D. Deployed Assets > Deployed Assets 

Correct Answer: A 

 

QUESTION 5

What must be true in order to reconcile the balance of an item? 

A. An open financial period exists. 

B. A default bin is listed for the item. 

C. An asset exists for the rotating item. 

D. A default vendor is listed on the inventory record. 

Correct Answer: C 
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